


31

199

21

30






199 5
31 1 21 3 2 20
30 ( )
30 12 1 500
31 2
31 2 2.000
2
=
=
=
1
2
2




(1)
(2)

(1)
(@)
3)
(4)
()

(1)
(@)

(1)
(@)
3)
(4)
(5)

(1)
(@)



(1)

#

31 1

! 2 20
30 10 17
106,858,440
30 10 18

#

50

56
11,058.63

31

15



(1)

(1)

b
30 10
111,240,000
30 10
W
50
b

2

20

17

18

20

LED

31

15



30 10
53,676,000
30 10
W
50
=
=
= 4
29 6

5,163,480,000

29 6

30 4

17

18

34

27

28

20

31

32

15

28



5,236,498,800 73,018,800

30 11 8

5,304,268,800 67,770,000

#

87
b

a

19,660.91 7,039.79
b

4

c

15.38 15.98
a

700 1,2000¢ 44 45 46

b

1 5,793.94

161

16,813.84



(1)

2 5,807.25

3 3,038.11

4 2,140.27

PH 34.27

b= 4 34

29 6 27

504,360,000

29 6 28

31 1 15

32

28



LAN
517,017,600 12,657,600
#
85
2,555
9
8 1
200KVA 2

48 2

42

28

100KVA 3



(1)

! 4 34
29 6 27
843,037,200
29 6 28 32 2 28
31 1 15
a
b

902,059,200 59,022,000

#

90

a
18 100
15 110

162
b
90 156
C
d
2 1



15

g
140
h
31
i
j
k
1)
30 10
175,716,000
30 10
w
29
a
3
115

10

10

31

10



14.8

b
2
2
a
24 1
1
(1)
34
30 3 26
135,756,000
30 3 27 31 3 15
b
85
10,050.62
a
L 857.6 U 237.0 VU200 303.9
L 56 16
b
1,026.0 951.0
283.0 887.0

523.4 230.8

11



g
3
h
2
1
2
(1)
34
30 7 30
45,360,000
30 7 31 31
31 1 25
a
b

46,935,720 1,575,720

#

100

12

28



1 1
b
LED 24 4
c
1,417.7
e
1,411.0
f
4 9
g
1 13 19
3
1)
34
30 8 30
53,892,000
30 8 31 31 1 31
7
100
a
198.8 38.8 37.8
58.2 26.4 37.6
b

13



b
4
(1)
34
30 11 16
28,536,688
30 11 19
23
20
a
b
856
(1)
= 1
30 8 13

31

145
4,327

14

27

499



97,254,000

30 8 14 31

31 1 18

116,528,760 19,274,760

30 8 14 31
#
75
a

1

6

b

1 154
C

38
e 300A

40

15

28

15



30

29

16



